Převody jednotek
1) Najdi chybný zápis a oprav ho:
a) 42,3 m = 42300 mm		b) 32,1 m = 3210 cm 	c) 242 m = 242000 mm 	             d) 13,01 km = 13010 m
e) 0,8 km = 800 m		f) 26 cm = 260 mm	g) 0,023 m = 2,3 cm		h) 12 dm = 1200 mm

2) Učebnice str. 67 cv. 1 a cv. 2 zapiš do sešitu:
cv. 1) 
24 m = 2400 cm
0,5 m = 50 cm
24 dm = 240 cm
2 m 21 cm = 200 cm 21 cm = 221 cm
24 mm = 2,4 cm
1220 mm = 122 cm
cv. 2) 
2 km = 2000 m = 20000 dm = 200000 cm = 2000000 mm
200 cm = 20 dm = 2000 mm = 2 m = 0,002 km
0,2 dm = 0,02 m = 2 cm = 20 mm = 0,00002 km
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